© Adigto] x 2 4
@ AA x 9 ko] Ay A
® 6,0 06 ONQNGNE) ® 6,066



2. fl= —% o] ghegtol -2, 1, 3 <4 uf, x 9 gre] g9



AL

=

C R

oo
rlo

@ xZB7}F ol Al 24 B Al 3ARE R Sai
@ A (5, 0) A 1AHEE 9]9] Holc,

® A (3, - 1) Al 3AHEH 910] Holk,

@ yHB7} SO A 1AREE e Al 242 0] &3t

® x% 919 He y3rE7} 0oleh,



4. x>0, E}%%y:—%ﬂlﬂiiiﬂ woFo] 5]

@® )
yA Y







= b =
Ay = . of Jm7t Al 2 ARE I A 4 AREHE A o], A

(—ab, b—a) = A B A2 91l A=A Fstofzt (Fa>b)

Y ER AHEd



e fiX o Y7y =4x-222 Hold uf, Wg 7re9

@ 5 @ 10 ® 15 @ -5 ® -10



YA

@ B(-2, 2)

@® A3, 2)

@ D(-3, -1)

® C(3, -1)

® E(0, -2)



wy @ 9

o 5710 Sl %‘—”F%PJ J#=E a3 y,
ZAo|t}, olnf, y = -3 o] JE L= Zat
7122 At %
[a 1]
H7]
1 1
Y=X Y=-2% y=-ox y=ox y=—ox




10. & Id”2 =%

u—‘:—,—mz,\—y:&cﬂ'y:—?x—oq YA y=8x
Jjxolth. AAOB 9] Ylo]E oozt
y:—21‘ A
2 S
0 Q T




11. %#yzaﬁﬂlﬁEﬂ%ﬁ§Ci—g)(sz%Zhiﬂw+b

of g2 Fsfoler.

5 J=X
=%






Zof 57 2kg 0] F71 B £A L] @ A2 WEYEY o
193} o] FFE o=tk A MolA 24 g 2717 2]
729t B70] BAlo] F& Fo] A P & o, 45| BAS

Fafolat,

go ok




14.

x9] ko] 1,2,5,10 ¢ o,

D 1,2,5
® 1,2,10

® -1,-2,-5,-10

"_é‘#y:_TlOPJE%

® 1,2,5,10

@ -1,-2,-5



15. FEHEW of Al 4 A(-2,3),B(0,-3),C(4,0) = et 1, o] A A
AB,CE2 ZAHO 7 5= A7 ABC 9 Ho|=?



